BREAKEVEN STARTER ACTIVITY

Name:  _______________________________________
1. Which of the formulas is correct for calculating the contribution made per unit sold?

a. Selling price x quantity

b. Total costs – revenue

c. Selling price per unit – variable costs per unit

d. Variable costs x quantity 

2. Which of the following formulas is correct for calculating the breakeven quantity?

a. Selling price x quantity

b. Fixed costs / contribution per unit

c. Selling price per unit – variable costs per unit

d. Variable costs x quantity 

3. Harry sets up a business to print T-shirts.  The fixed costs of premises and the T-shirt printers are £3,000.  The variable costs per T-shirt (the T-shirt, ink, wages) are £5.  Each printed T-shirt sells for £25.
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4.  Label the following breakeven graph 




Calculate the contribution per unit:





Calculate the breakeven quantity:





Calculate the revenue at the breakeven quantity:












































BREAKEVEN POINT           COSTS AND REVENUE             TOTAL COSTS                    


TOTAL REVENUE               QUANTITY /OUTPUT               FIXED COSTS








